Recall: if a number is added to or subtracted

from x, what happens?
For example, what transformations are 3
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summaRY ( Traaslution S _ :
f(x) + ¢ moves the graph of f(x)} up or AON/\ C b‘/ C )

L5 Vectieal Trmaslatios

f(x — d) moves the graph of f (x) left or r‘i‘g}lnt Chy a number
which mpkes ’i~—d=o> —5 Horizente| Trunslods o

Combining Vertical and Horizontal Translations

a. y=|x+ 3| + 1is a translation of y = |x|:

Off sprivg function 2 pacert functim
Describe the translations

shift the %mpb\ to left by 3uaits am,\
V4 /o up by | unt.
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Graph bofh functions
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in @ graph of e same shape and Size, TRETheR,
but in o differeat  position.

¥ amsformarins inclades ransalusn (or shifti)
strefches  aal ‘_.rre-Plecﬁms_

b. v=+vx+3—Zisatranslationofy = Vx.

Describe the translations.

Tt shifte 3 waits to te lefe and
it shifts 2 waits  dowa.
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Quiz Dn Map.:hdl- Chfe.,l> aﬂd Unit 'ﬁgs—r on March 9 CMmJav)

Comparing functions of the form Yy=f{x)andy = -f(x).

( 1. Draw and label each graph on the grid
o provided. Use a table of values if necessary.
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Which axis were the above equations reflected in? x AXTs

Which points were unchanged in the reﬂectioq? Ve rt@)( POi“f\t

Points that remain unchangedin a transformation are said g be

Where are the unchanged points found? ) d.Cl)(l S




2. Comparing functions of the formy = f(x)andy = f(—x).

Graph and label each equation on the grid provided. Use a table of values if necessary. . (
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Which axis were the above equations reflected in? fg Axis
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Which points are invariant?
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Where are the invariant points found?




The graph off(—_x) is a reflection of the graph of f(x)in y ~ AXis C ‘_:{) y)

Bxoump e ns ond (2b)

The graph of ~/f(x) s a reflection of the graph off(x) in A - axis (:i Jh&’)
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The graph of — f(~ x) is a reflection of the graph of f(x)in A —ouds ongl ("‘:(. ) *y>
Y — oxis

Example 1\Graph and label the reflections of f(x) = Vx + 1 * parent o ‘F(DL) :,J X
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State the domain and range of each function. and G raph them
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b} A(x):a reflgction in the y-axis G‘F "F[)l) .
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Example 2 For each function f {x), determine the equation for g(x).
a) f(x) .-_*V:t’—-3_+2 ) _g(x): —f(x) (( .

g = — (Jx-3 +2)

= — A3 — 2
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PloZ #2,0) b= ‘F(;Q —only Y yalue Wil ghife yp by 1
A= (,._4,} 7)

R =
/
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5 Omw = T + 10
% oA coordapke WUl mpvt ot right by 2.
XY ou (/ up by 10,
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